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Total Mark (560 Marks) ®
I- Vocabulary (100 Marks) “L?
A- From a, b, ¢ and d choose the most suitable word that best completes each of Thes _
following sentences: (5 x 10 = 50 Marks) ykuwait_net_home
1. Teat B ..... . 2459.... , but most of the time I prefer fruit and vegetarian food.
a. absolutely b. occasionally c. amicably d. mentally
2. Saudi Arabia achieved a historic ............... over Argentina at Lusail Stadium in Qatar.
a. anxiety b. cityscape c. victory d. falsehood
3. My brother ............... to me becoming an engineer. He thought it was a stressful career.
a. objected b. dumped c. consumed d. accumulated
4. Dubai Police use a collection of ............... cars such as Bugatti Veyron and Lamborghini.
a. disappointing b. equestrian c. intentional d. high-end
3. The fire continued t0 .. .c..ovmmsves for several hours before firefighters were able to control it.
a. flare up b. bring up c. slam into d. tune in

B- Fill in the spaces with the most suitable words from the list below: (5 x10 = 50 Marks

chiefly / convicted / automatically / unbearable / costly / characterised

6. The young man was convicted of the crime and was sent to prison for three years.
7. The pain I had in my stomach was so unbearable that I started screaming for help.
8. Spending a few days in a luxurious hotel can be costly, but the experience is amazing.

9. The weather in Kuwait is characterised by long hot summers and short warm winters.

10. This article chiefly discusses the importance of online learning for studyx—%s—.&nd—feﬂeh@rs‘
ot | e G|




el
2023/ 2022 — p il sl 31 5 AL pilgd — i (Salondl il (oliowiial — (Gt sudiomiily (3 93 Drorion 11 Gl -l A el

II- Grammar (60 Marks)

A- From a, b, ¢ and d, choose the correct answer that best completes each of the
following sentences: (4 X 10= 40 Marks)

11. The cookies .......c....... my mother bakes are really delicious. P poy '
a. whose b. who ‘?ﬂ'“ MM ‘
c. which d. where el

12. Can you help me please? I think I've got ............... in my eye. \\-m;—//
a. everything b. nothing o 1;‘:1\&4 ol
c. anything d. something ™\ I
13.1 ...almanahj that working hard is the most important key to success.
a. believe b. believing
c. will believe d. was believing
14. There are between 5,000 and 7,000 languages spoken ............... the world. .N"'V"L“f-\;,,-»;j
a. from b. throughout OrraOY.”
c. to d. on bl

B- From a, b, and ¢, choose the correct answer as required: (4 X 5= 20 Marks)

15. My cousin (leave) earlier. She missed her flight. (Correct the verb)
a. My cousin will leave earlier. She missed her flight.
b. My cousin should leave earlier. She missed her flight.
c. My cousin should have left earlier. She missed her flight.

16. “Set your alarm before going to bed.” (Report the sentence)
a. My father told me to set my alarm before going to bed.
b. My father told me not to set my alarm before going to bed.

c. My father told me to setting my alarm before going to bed.

17. Most restaurants accept credit cards. (Change into passive)
a. Credit cards were accepted by most restaurants.
b. Credit cards are accepted by most restaurants.

c. Credit cards have been accepted by most restaurants.

18. I won’t forgive my neighbour. He apologises for what he said. (Join)
a. I won’t forgive my neighbour yet he apologises for what he said.
b. I won’t forgive my neighbour whereas he apologises for what he said.
c. I won’t forgive my neighbour until he apologises for what he said.

2
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II1- Language Functions (40 Marks)

19. Your sister intends to spend all her savings on a diamond ring.
Giving advice / Suggesting and warning / Stating disadvantages
20. Your brother wants to know why you enjoy watching 3D movies.

Giving reasons to support choices / Stating advantages

% dutabd 0 bl
N naionr

21. Your friend says that technology has made the world a better place to live.

Agreeing / Disagreeing / Expressing opinions

22. You want your classmates to join a fundraising campaign to help the poor.

Persuading / Stating advantages

Any reasonable response is to be accepted

IV- Set Book Questions (40 Marks)
Answer only (FOUR) of the following questions (4x10=40 Marks)

23. Why do you think the media has to be as truthful as possible?

The media has to be as truthful as possible because it has a huge impact on

public opinion and societies.

24. What are the different uses of cameras?

Cameras can be used in recording important events. /...making movies and series.

/... surgical operations.

25. How do airbags safeguard car drivers and passengers?

Airbags inflate immediately when a car collides with something solid preventing

people from hitting dangerous objects.

26. In what way can people in Kuwait protect the environment?

People can launch campaigns to spread awareness. / ...stop pollution. / ...grow

more trees.

27. How can engineers ensure the safety of buildings when the earth quakes?

They use rollers or springs that help the buildings move a little during an
earthquake. /... materials which soften the impact of an earthquake.

Any reasonable answer is to be accepted

3
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V- Writing (120 Marks)

Write on the following topic: (Argumentative)

Is watching too much TV harmful or useful for children?

Some people think that it is useful for children to watch as much TV as they want.
Others, however, think the opposite and claim that parents should strictly limit children's TV
watching time to less than one hour a day.

Plan and write an essay of 14 sentences (160 words) presenting both arguments and
stating your own opinion on the issue.

NB: (Your writing should include an introduction, two-body paragraphs and a conclusion)

Qutline: (20 Marks)

Introduction:

...............................................................................................................

” " i o N - -
.......................................................................... Apaplail) o gSU ASpi O (haadll 5
~

Body: m
7 & m

Telegram:
Paragraph 2: vkuwait_net_home
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The topic (100 marks)

. Exposition | Paragraphing Handwriting,
s Outlining | of jdeas and | and number | Spelling | Grammar | spacingand | Total
= coherence of sentences punctuation
E 20 60 10 10 10 10 120

20 marks to be deducted from the total mark for changing the format.

Off point topics / outlines receive ZERO.

5 marks to be deducted from the outline if the ideas are not used in the topic.
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-Read tlh_e following passage carefully, then answer the questions below:

When Miguel Rodriguez was a young boy in Los Angeles,

he was very shy. He had a slight speech impairment and found it | &b aes sk ﬁw‘/

difficult to communicate with others. His parents worried about
how their son would get along in school. But all that changed one
day in the second grade.

Miguel saw some of his classmates playing soccer and decided to join them. “It was
like someone flipped a switch,” his mother said. Miguel opened up. His speech impairment
disappeared, and Miguel became a successful and popular student.

Like Miguel, soccer has changed the lives of many people around the world. Whether
giving a shy kid a way to open up to others, or helping homeless kids find a way to get off
the streets, soccer has become an international language that speaks louder than words.

One of the reasons that soccer has been able to cross borders so easily is that the rules
are the same, no matter where you are. Even if the teams come from all over the globe, they
all share common rules and traditions relating to the game. After all, a yellow card means the
same thing whether you are from Taiwan, the U.S., Brazil, or Italy. Some other reasons for
the universal popularity of soccer may be the fact that its rules are relatively simple
compared to many other sports, and because it can be played anywhere from a city park to an
international stadium.

Just as Miguel Rodriguez was able to use soccer to communicate with other kids,
soccer matches both big and small bring people together from all over the world. The FIFA
World Cup, the largest soccer competition in the world, has seen 76 nations compete over its
history. It is estimated that almost 3.2 billion people around the world watched at least one
minute of the 2010 World Cup. That was approximately 46% of the whole world population
which was a record no other sporting competition could even come close to. Moreover, the
official attendance for the final world cup match held in 2010 at the Soccer City Stadium in
Johannesburg, South Africa between Spain and the Netherlands was about 85.000 people.
That was about one-ninth of the world’s entire population. With those kinds of numbers, it’s
no surprise that soccer has become an international language.
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A. From a, b, ¢ and d, choose the correct answer: (5 X 10 =50 Marks)

28. The best title for the passage could be:
a. FIFA: World Cup 2010
b. Soccer Fans Around the World
c. Soccer: The International Language
d. The Most Popular International Stadiums

29. The underlined word “impairment” in the 2™ paragraph means:
a. display
b. disability
c. discipline
d. disagreement

30. The underlined word “they” in the 4" paragraph refers to:
a. teams
b. rules
c. borders
d. reasons

31. According to the last paragraph, the FIFA World Cup is:
a. a variety of big and small sports competitions.
b. the largest soccer competition in the world.
c. played in Spain and the Netherlands every year.
d. made up of one-ninth of the world’s entire population.

32. According to the passage, all the following statements are TRUE, EXCEPT:
a. Miguel Rodriguez went to a school in Los Angeles.
b. Miguel Rodriguez became a successful and popular student.
c. Teams from 76 nations compete in each World Cup competition.
d. People around the world share common traditions when playing soccer.




B. With reference to the passage, answer the following questions: (4x15 = 60 Marks)

33. Why did Miguel Rodriguez find it difficult to communicate in school?
He was shy because of his speech impairment. / He had a slight speech impairment.

/... he was shy.

34. How has soccer changed the lives of many people around the world?
By giving shy kids, Like Miguel, a way to open up to others. / By helping homeless
kids find a way to get off the streets.

35. Why has soccer been able to cross borders so easily?
The rules are the same everywhere. / The rules are relatively simple. / It can be
played anywhere. / Teams from all over the globe share common rules and

traditions

36. How many people attended the final match of the 2010 World Cup?
85.000 people attended the final match of the 2010 World Cup.

Any reasonable answer related to the passage is to be accepted.
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VII- (Summary Making) (60 Marks)

Read the following passage, then do as required:

Penguins and puffins are two kinds of seabirds. They both are
black and white. And they both have webbed feet. Penguins are

much larger than puffins in size. Puffins have bright orange beaks

-

and feet. However, penguins’ beaks and feet are black. You won’t

i

and puffins live far north. But they both depend on the sea for their food. Both birds have sharp
spikes in their mouths. The spikes hold on to the fish they catch. Although penguins and

puffins are birds, only puffins can fly. But, both of them use their wings to dive into the sea.

In a paragraph of FOUR sentences ONLY, summarise and paraphrase the above
passage in answer to the following question:

What are the differences between penguins and puffins? -

The answer should include the following points:

* Penguins are much larger than puffins in size.
* Puffins have bright orange beaks and feet; penguins’ beaks and feet are black.
= Penguins live far south, and puffins live far north. / They don’t live together.

= Puffins can fly, but penguins can’t.

Rubrics for Checking Summary Making

RUBRICS Mark Total Mark
Content / relevance of ideas 30
Paraphrasing 20
Spelling and grammar 5
Format 5
60

* Copying the whole paragraph receives ZERO.
* Exceeding the required number of sentences:
- Minus 5 marks for one sentence.
- Minus 10 marks for two sentences and above.
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VIII- Translation (30 Marks)

Translate the following into good English: (2x15=30 Marks)

Ages 321 o Folall Ja-1a Hla-adl HIA 53¢ 229 (s A 1A
Fahad: We shouldn't put / install smoke alarms inside or near kitchens.

Hamad: You are right. They are so sensitive.
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